| L2 COMPUTE time per input event Enties 622642 rate of COMPUTE | Entries 622642
x10 Mean 3.227 - Mean 520.5
2 - : : : : : : : N[
$300H------ e hEEREEEN LEREEREE LR Beseeees [RREEEREEREERS RV 1.329 T F RMS 281.2
3 | : : : : : : : 0800 Hh-i dq--of -
5 1 Underflow 0 © Underflow 0
250 1IN Overflow 5 >\700 Overflow 0
i 600 I -1 N T 4 -
0] - :
i 010] = SEPRETEPREL I A T % | | R TR R PR SRR RN EEPPPR SRPREY
WL1) || SRR ERPLEN FRTTRRE DURPERD SEFPUR PTTRRS DIRRTTT ARRLTN SLLRE a00fd e S TR SN SO S
100t R S SRS HEE S S
I 200H L R
0 S P E
I 100 -+ eeeeee N % P Teeeneedees P Peeeans
O-ILLIiIIlilllilllilllilllillIiIIIiIII O:IlilllilllilllillliIIiIIIiIIIiIIIiIII
0 20 40 60 80 100 120 140 160 180 0 200 400 600 800 1000 1200 1400 1600 1800 2000
x: COMPUTE time (CPU KTics) x: time in this run (seconds)
total events. O=anylnput 10=anyAccept 11=normalAccept 12=rndAccept Entries 622642 | L2-et0w-calib: seen tokenS Entries 622642
5 Mean 0.5 Mean 2049
10 TrreiTres et P A ottt h 2
: : : : : : : ;[ RMS 0 $220 RMS 1182
H >
Underflow 0 ;200 Underflow 0
Overflow 0 Overflow 0
: 180
5
10 160
140
120
10°
1 i 111 i 111 i 111 i 111 i 111 i 111 i 111 i 111 i 1

0 2 4 6 8 10

12

14 16 18

Input: 0=compute. Anything else=Contact Expert

500 1000 1500 2000 2500 3000 3500 4000
x: token value

ETOW #tower w/ energy /event Entiies 622642
Mean 2.265
RMS 2.63
R N Er=m
Overflow 0

ILIHH|||||

0 10 20 30 40 50 60 70 80 90 100

Wed Jul 2 15:03:24 2014

x: # ETOW towers

#ETOW towers / event , Et>1.50 GeV
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ETOW tower, Et>1.50 GeV (input)
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X: eta bin, [+2,+1]
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